PROFILCO

MOVABLE SUNSHADES

CODE SKETCH WEIGHT DESCRIPTION
KQAIKOX 2XHMA BAPOX MEPITPA®H
) MOVABLE SUNSHADE
50 -911 LC{:D_] 1806 gr/m KINHTH NEPSIAA
) ‘ 656 DRAINAGE CHANNEL
50 -912 gr/m YAPOPOH
— PROFILE FOR REINFORCEMENT OF
52 - 562 1118 gr/m MULLIONS
| MPO®IA ENIZXYZHS TAY
COVER OF PROFILES 52-562, 52-563
52 - 561 [ 269 gr/m KAMAKI A TA MPO®IA 52-562, 52-563
i CORNER PROFILE
10-111 | 624 gr/m MPO®IA FQNIA

DECEMBER - 2017

B1




PROFILCO

MOVABLE SUNSHADES

30

profile code theor. weight length
KwOIKOG TTPOPiA BswpnTiKo Bdpog unkog

50 - 911 1806 gr/m 6m
XY x=160.2mm y=30mm

moments of inertia Ix. I
poTmég adpaveiag (Ix, Iy)

Ix= 8.72 (cm") Iy= 148.06 (cm*)

moments of resistance

poTméc avrioraong (Wx, Wy)

Wx= 5.81 (cm’) Wy= 18.5 (cm’)

accessories saprriuara

code kwdIKOC description mepIypaQn

Aluminium plug . . .
AAD50-915 for sunshade for movemen] 101 OKIA0TPOU Kiviong

- Aluminium plug . .
AA050-916 for sunshade Tdana okiGoTpou

15

80,1

160,2

61,3

16

21,9

profile code theor. weight length
KwOIKOG TTPOPiA OswpntiKo Bapog urkog

50-912 656 gr/m 6m
XY x=57.8mm y=61.3mm

moments of inertia Ix. T
poTmég adpaveiag (Ix, 1y)

Ix= 6.58 (cm") Iy= 11.06 (cm }

moments of resistance
porrég avrioraong

Wx= 1.45 (cm’) Wy= 3.01 (cm’)

(Wx, Wy)

accessories g§apriuara

code kwdikog description mepiypaen
AA026-001 Corner joint Fwvia ouvdeong

DECEMBER - 2017

Co1




PROFILCO

MOVABLE SUNSHADES

profile code theor. weight length
KwOIKOG TTPOoPiA BswpnTiKo Bdpog unkog
et = 52 - 562 1118 gr/m 6m
[
XY x=55.3mm =50.3mm
|| 52 - 561 d = Y
N moments of inertia Ix . I
} } poTmég adpaveiag (Ix, Iy)
N
} } S Ix= 19.69 (cm®) Ty= 12.82 (cm®)
o} S
X = :
;; - ot e (W, W
N < s LS
i - Wx= 7.84 (cm’) Wy= 3.8 (cm’)
Il N
AR
N =
33,7
55,3
profile code theor. weight length
I KWOIKOS TTPOPiA BswpnTiKo Bdpog HIKOG
52 -561 269 gr/m 6m
X, Y x=10.8mm y=50.3mm
moments of inertia Ix . I
® porrég adpaveiag (Ix, Iy)
53 Ix= 2.79 (cm*) Iy=0.07 (cm*)
- mom’ents qf resistance (Wx , Wy)
= pOTES avrioTaong
“ Wx= 1.11 (cm’) Wy= 0.88 (cm’)
2,38
10,8
profile code theor. weight length
KWOIKOS TTPOPiA Bswpnriko Bdpog uIiKog
10-111 624 gr/m 6m
3 XY x=40mm y=40mm
H moments of inertia Ix. T
i — porrég adpaveiag (Ix, Iy)
Ix= 3.58 (cm’) Iy= 3.58 (cm")
m::éents qf resistance (Wx , Wy)
- pOTES avrioTaong
=

11,1

40

Wx= 1.24 (cm’) Wy= 1.24 (cm’)

Co2

DECEMBER - 2017




PROFILCO

MOVABLE SUNSHADES

DETAILS OF MOVING SUNSHADE CONSTRUCTION WITH MOTOR

NENTONEPEIEC KATAOKEUNG KIvNTOU OKIiaoTPOU HE HOTEP

AA050-916

|

>

SECTION A-A'
TOMH A-A'

i

-+ 50-911

.-"AA050-915

TOMH A-A'

150

=

90

I P

=

150

7

— |,

=

150

7

I P

=

150

7

— 17‘
|

=

150

T

U

=

)

Il
.

M
Il

op
[S—

M
Il

op
[S—

M
Il

op
[

M
Il

op
[

M
Il

[

o

o

U

— —_— L

-

[ S—

T L]
aOo

M
Il

R L2l
ui
<
O
e
[

.-+ -AA050-916

DECEMBER - 2017

D01




PROFILCO MOVABLE SUNSHADES

DETAILS OF MOVING SUNSHADE CONSTRUCTION WITH MOTOR
NENTOPEPEIEC KATAOKEUNG KIVATOU OKIAOTPOU HE HOTED TOMH B-B

oi----10-111
M -+ 52-562
2
] 2
e i1 ---50-911 —
: AA050-915
=/3 % .o 50_911
- {AND50-915
2
2
2
SECTION B-B' -
TOMH B-B'
2
2
2
---10-111
/L Scale 0.25

D02 DECEMBER - 2017




PROFILCO MOVABLE SUNSHADES

DETAILS OF MOVING SUNSHADE CONSTRUCTION WITH MOTOR
AENTONEPEIEC KATAOKEUNG KIVNTOU OKiaoTpou HE |J?Tép

I/ DETAIL "A" / DETAIL "B"
[ N
\@Hﬂ
I e . = A
N
_ _ _ _ _ 43.1@% | _
y 2
e —— = —
K
N _ _ _ _ _ _ _ E.{WE* I
’ / ] ) \ N
; f 7 L10-111 N\
DETAIL"B" / F—of "

\
AY009-153-00

| AY009-151-00 \
@ AY009-153-00 |

DETAIL "A" \ -~ AY009-152-00 /
J— 3
- _:’__‘T LT /
- \
/ / \i_‘ir_; \ - {1 ) /
yd —-
/
S AA050-915
/ \ ..................... 52'562
/ W ....... S . AY005'015‘00'01
/ \
/ el
| 5, %@_ \
\ ] : |
\ . . M f .’. E Z
S : D —fE - AY099-047-00
AY099-048-00 . AY009-129-00| | AY009-155-00
\ AY009-154-00 | |AY009-150-00
AY009-154-00 ,
t ........................... P S . / ...................... 52'562
‘\ ’
N s
\ - /
\ _ - -

DECEMBER - 2017 D03



PROFILCO

MOVABLE SUNSHADES

DETAILS OF MOVING SUNSHADE CONSTRUCTION WITH MOTOR
NENTONEPEIEC KATAOKEUNG KIVNTOU OKIAOTPOU HE HOTEP

r |
i
i
|
1 B
Dfﬁﬁqu,q\\ D‘ ......................................... AY005-015-00-01
| - P AA050-915
i | . AY099-047-00
i i\ .+ 1*AY009-155-00|
L h -+~ . -AY009-154-00]
| | -*. AY009-129-00
N ) . ..-52-561
] | e S S T - Lot
i X e Le et S e AY009-150-00
i ! R ‘ﬁj . 52-562
} } N\ .n %g ?2
) ). g? T %AY009-154-0(
—‘r‘r— - J‘r'. - LEner _ﬁﬁ L e Eg.Ayo99-048-0(
| | BZER 2L 7
I X 7 7
I N %
/ 7
IO ) 53
| | A 7
I ! 7 7
b —— AN T 52 42
H KW b I 77 %
T @ 7
.\N\ I 447/7/7777/7/7/7f/7/7/7f/7/7/7777/72/
‘\\ } }
‘\\ I
2 ‘\\ } }
o N
by N
by N
by I
by I
by I
\\\ I
\\\ 7 } }
\\\//L,,,,Ji I 10-027
li , TUBE 100x50
I .
_ — _ .
S = | o
& ﬂ @
A
AA026_001. .......... /, R R R AR '
50-916 - -
(DRAINAGE CHANNEL - YAPOPOH) |

DECEMBER - 2017

D05



PROFILCO MOVABLE SUNSHADES

ASSEMBLY OF MOVABLE SUNSHADE WITH AA050-915
Juvapuoyn KivnTou okidoTpou e To AA050-915

10-111
50-911 . 52-561
< AA050-915 '

DECEMBER - 2017 Fo1



PROFILCO MOVABLE SUNSHADES

ASSEMBLY OF ALUMINIUM PLUG AA050-915
Zuvappoyn @Aatag aloupiviou AA050-915

...-AY099-048-00
" ..AY009-154-00

.. AY009-150-00

~.AY009-129-00
.. -AY009-154-00
" . -AY009-155-00

©AY099-047-00

Fo02 DECEMBER - 2017




PROFILCO

MOVABLE SUNSHADES

STEPS A

SSEMBLY OF ALUMINIUM PLUG AA050-915

BrinaTa Zuvappoyng Tng @Aatlag ahoupiviou AA050-915

st Step: We screw onto the plug AA050-915, as it shown at

picture 1.

Bnua lo: Bidovovpe nave oty toma AA050-915,
omwg deiyvel to oynua 1.

2nd Step : We screw the plug AA050-915 onto profile AP 050-911, as it

shown at picture 2.

Picture 1.
Zymua 1.

Brua 20: Bidovovpe v térna AA050-915 ndve ot nepoido AP050-911, dnw¢ paiveton 6to

oymua 2.

Picture 2.
Zyua 2.

3rd Step : We screw nut AY009-150-00,

onto the plug AA050-915

as it shown at picture 3.

Brjua 20: Bidmvovpe 10 KoAvOpkod
nepkoyio AY009-150-00,

movo ot tirna AA0S0

Omm¢ paivetal 6To oynua 3.

-915,

Picture 3.
Zyua 3.

DECEMBER - 2017

FO03




PROFILCO MOVABLE SUNSHADES

STEPS ASSEMBLY OF ALUMINIUM PLUG AA050-915
BAuaTa Zuvappoync Tne eAaTlac aloupiviou AA050-915

4th Step: We screw the plug AA050-915 to
the hole at profile AP052-562.

Brua 40: Biddvovpe v téno AA050-915
pe v mepoida, Tave oto AP052-562.

Picture 4.
Zyua 4.

Fo04 DECEMBER - 2017



PROFILCO MOVABLE SUNSHADES

STEPS ASSEMBLY OF ALUMINIUM PLUG AA050-915
BAuaTa Zuvappoync Tne eAaTlac aloupiviou AA050-915

5th Step: We join the plug of movable
louver AA050-915 with 10-111, as it shown
at following detail.

Brpa So: Evavovpe v tdno mepsidag
AA050-915 pe v yovia kivnong 10-111,
OTMS PALVETOL GTNV TOPAKATD AETTOUEPELOL.

- — -

e N

yan 10-111 \\

\
AY009-153-00 \

DETAIL "B"

AY009-151-00
" AY009-153-00 |

-~ 'AY009-152-00 /

Picture 5.
Zyua S,

DECEMBER - 2017 Fo0S




PROFILCO MOVABLE SUNSHADES
Machining of AP052-562
KaTepyaoia npopi\ AP052-562
50.28
7 =
I 5
Scale 1:1
150 150
| | |
& | <D\\5 | @\\5 I Cb\\b

55.3
~

Scale 0.5

Fo06

DECEMBER - 2017




MOVABLE SUNSHADES

PROFILCO
Machining of AP010-111
Katepyaoia npopih AP010-111

40

%
8 on
Z ~
g 2
QA
%
&
Scale 1:1
150 150
| D
a‘ 06> 065 o]
S _f_/é/i/_ _ _ _ _ /_éy/_ _ _ _ _ i/
|
| I |
Scale 0.5
FO07

DECEMBER - 2017



PROFILCO

SUNSHADES

ACCESSORIES

EZAPTHMATA

CODE : AA050-915

O
o

F ;Oo /OF

Aluminum plug for sunshade for movement
Tamo. ox1dotpOV KIvRONG

CODE : AY009-047-00

-

Screws hexagon DIN 933 Inox A2 8x20
Bideg eCayawves DIN 933 Inox A2 8x20

CODE : AA050-916

Aluminum plug for sunshade
Tamo. okidaTpOD

h CODE : AY009-048-00

Screws hexagon DIN 933 Inox A2 8x16
Bideg eCayawves DIN 933 Inox A2 8x16

CODE : AA026-001

Joint corner for 50-912
Twvio oovdeans yio 10 50-912
22 x 10mm

CODE : AY009-151-00

[

Screws hexagon DIN 933 Inox A2 5x25
Bioeg elaywves DIN 933 Inox A2 5x25

CODE : AY009-150-00

Nut DIN 6334 Inox A2 8-20
Hepikdyiio kvoivdp. DIN 6334 Inox A2 8-20

CODE : AY009-129-00

e

Nut stainless DIN934 Inox A2 M8
Hepixoylio DIN 934 Inox A2MS

CODE : AY005-015-00-01

Screw internal square 8x1 chain
Aapopvopioa youdxi 8 y 1

CODE : AY009-152-00

O
Nut stainless DIN934 Inox A2 M5

epioyiio DIN 934 Inox A2M5

DECEMBER - 2017

G1




PROFILCO

SUNSHADES

ACCESSORIES

EZAPTHMATA

CODE : AY009-153-00

Washer Inox 125 A2 M5 (5,3)
Podélo inox 125 A2 M5(3,3)

CODE : AY009-154-00

<

Washer Inox 125 A2 M8x2 (8,4)
Podéla inox 125 A2 M8x2 (8.4)

::: CODE : AY009-155-00

Serrated washer DIN 6798 Inox A2 A8
T'kpopep DIN 6798 Inox A2 A8

CODE : AA999-085-00

o
~ Distance Regulator for AA421-031-00
E&aptnua UCS pobuiong dadpopng yia.
potép AA421-031-00

— CODE : AA421-031-00

8]
Motor for movable shutters

Motép éuPolo kvntng mepaioog

G2

DECEMBER - 2017




